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Abstract. The problem of nonparametric estimation for the Poisson process controlled by Markov
process with the continuous time in the case of incomplete observations is considered. A method of
the nonparametric estimation based on the possibility of the presentation of such process in the form
of hidden Markov models is proposed. An example of application of this method for estimation of
unknown distribution functions in the case of incomplete observations of a composite Poisson process
controlled by a simple Markov regeneration process is considered.
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• 5���$� 6���
�� x(t)� t ≥ 0� � ����������	 ���
	� � 	�
���
$ ����
�

E = {1, 2, . . . , m},

��������
��
 �����
�
� ��
�
 �������$���� 	������$4

A = ‖aij‖, i, j = 1, 2, . . . , m.

• #�� �
��
�
 ����� i ∈ E ��������
 ������
�� �������� ζi � �����
"$ �
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�
�
��4

Ui(x) = P{ζi < x}, i ∈ E = {1, 2, . . . , m}.
• (���
�
�����! ��
��� Π(t)� t ≥ 0� � ����	���
	 λ� ���! �� �������� �
 �
�
����$�� x(t)� �
 �
� �
	�!���� ������
��� ������� {ζi, i ∈ E}�
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��
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��� S(n) ∈ [0, +∞) � ���������	 ���
	
n = 0, 1, 2, . . . 
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 ��
���� Π(t)� �
��
4

S(0) = 0, Π(t) = max{k : S(k) ≤ t}.
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ξ(t) = {ξ1(t), ξ2(t), . . . , ξm(t)}, t ≥ 0,
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ξx(S(k))(t) = ξx(S(k))(S(k)) + ζ
(k)
x(S(k)), S(k) < t ≤ S(k + 1);

ξj(t) = ξj(S(k)), j �= x(S(k)), S(k) < t ≤ S(k + 1).
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ζ(k) = ζ
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x(S(k)), k = 1, 2, 3, . . . .
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‖aij‖� i, j = 1, 2, . . . , m� 
 �
#�! ��#��� π = {π1, π2, . . . , πm} ���
�#����� ��������

��� �
����
 &
�#��
 x(t)� t ≥ 0� � �
�
	��� λ �

������ #��� ������
 Π(t)� t ≥ 0�

(��
� a ) ���#� ��#���
�� ������ ������ '����	� ��#���*

u(a) = {u(a)
1 , u

(a)
2 , . . . , u(a)

m },
��

u
(a)
i = Ui(a) = P{ζi < a}, i ∈ E = 1, 2, . . . , m, −∞ < a < +∞.
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{ζ(1), ζ(2), . . . , ζ(n), ζ(n + 1), . . . , ζ(n + m)}
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χ[A] ���
�
$ �� ����#
���� '����	� �
#
����� ��
�����#

{Qsn(y, z), s = 1, 2, . . . , m}, n = 1, 2, . . . ,

�� y �
 z ) ����� �� ��#���
�� ������ ����
� �
��
���	 ����	*

Qsn(y, z) =
1
n

n∑
t=1

χ[ζ(t) < y, ζ(t + s) < z], s = 1, 2, . . . , m.

(��
� �
#�! {q(a)
sn , s = 1, 2, . . . , m}� n = 1, 2, . . . � ���
�
$ �
��#���� ���
��# ��	�����


��
�����# {Qsn(y, z)}� #��� y = z = a� �����*

q(a)
sn = Qsn(a, a), s = 1, 2, . . . , m.
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 �������	
 �	���������	
 �������� (Ω,�, P) ���#������� ����������
�
���� &
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 η(k)� k = 0, 1, 2, . . . � � 	��!���� ��
��� E = {1, 2, . . . , m}� �#�� ��
�
��!�� ��� �
����
 x(t)� �� �
��!�� ��� �

������ #��� ������
 Π(t)� 
 �
#�! ��
�
��!�� ��� ��	�����
 ���
�#���� ������� {ζi, i ∈ E}. %�������� �	���������

P = ‖pij‖, i, j = 1, 2, . . . , m,

�
����
 η(k) �
 ���� #��# ����
�
�� �� � �����	� �������� ������ *

pij − δij =
m∑

k=1

pik · akj

λ
,

i = 1, 2, . . . , m, j = 1, 2, . . . , m,

��
δij = 1, i = j, δij = 0, i �= j.

(��
�
P (s) = ‖p(s)

ij ‖ = P s

���
�
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�#��
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�� ������ ���
	�� η(k)
 k = 0, 1, 2, . . . � ��������� �� ������	�������

�� � ���� ��� � {b1, b2, . . . , bm} ������� P ! �����
 �������� ��� �� "
 ��#��� ��� ��

$� %
�	 π = {π1, π2, . . . , πm} ! ��
�	� �����	����	�	 �	��	�� �  ������ ���
	��

η(k)
 �	 � " �	�� &��' i = 1, 2, . . . , m
 �� j = 1, 2, . . . , m
 ��
	����&�" �������&�

m∑
k=1

πk√
πi · πj

· pki · pkj =
m∑

k=1

√
πi · πj

πk
· pik · pjk ���

(	�� � ��	��������
 "
� ��"��� �	 	������ ��� ��	��
 �	 n →∞
 ������� ����"�&�
m∑

i=1

m∑
j=1

πi · p(s)
ij · ui · uj = q(a)

sn , s = 1, 2, . . . , m, ���

��� ��#��� �	��)"�
��

*	������"� ����	�
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� ������ ������
� !� ����
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� ����� ��� 	�� ��
"#$� %�
����
η(k) � �
�&���
�' ��
�������' ��	��� (ζ(k), η(k)) k = 0, 1, 2, . . . , $�
�
��� ��
���
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�
� ��� ��� ' ���
���
���
� ����	 	�� )& �
�&�	*�
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�������� � 
���������� ���� �	�
 ��
�	 ��& 
���(����� ��	� ��
���*
�# �"�
��#
�����
�

u(a) = {u(a)
1 , u

(a)
2 , . . . , u(a)

m }.
,��� 	�� 
���(�����

� ������� 
��
�
� ��� ��*
� ����
������ �����
�' � ����
����	 � 	�� ����
� ��
�	 ��*����& 
���(����� ��
���*
�) �"�
��

û(a)
n = {û(a)

n1 , û
(a)
n2 , . . . , û(a)

nm}
�����
� u(a) ����������� ���
���
���
� ��� ��	����	
� ��������-
� �
�"�	�
��

� ���� 	����	*�
� ����* ����������� �"�
�� ��
���
�& � ������� 
��
�
� ����
.� ��	����� 	���	�
�& ��� ��$���
�& 
���������� ��*
� ����
	*����� !� �����
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(a)
n ���
�-�
�& ���
���# ��� ��� ���������-
� 
�
����
�' 
����	���

������ ��������� ��
����
�� !� ���
�-�#�� ��	��� ��� 	����	*������ � ��/
�	
�

� � 	����� ����	
�� ����	�� �"�
#��

� �����
�� � ���
��� ��� ����
#�
�����"�# ���� 	�����
�' �
���� � ��$���
��� ����	�� ���
���
���
�) ��������/
-
�) �
�"�	�
� �� 	����	*�

� �����������' ��
���
�& �"�
�� � �
����-
� 
���/
*������� ,��
��� ��� ������ ��$
�
����
�' ���
���-
��� 
����������� ���� ��	&�	
	� 
���(���� ��������
�) �
������� 0 �
����-
�) ��-�� ��
� ����1 	�"���
�� ��/
	� �
���	�

� 	�����
�$� �
����� ��
���
�& �"�
�� � ��
�
��
�& �����"��& ����
-������ �
�-�

� ��
����
�� ��	��� ��	���� ,��� 
� ����
-�

� ������ � ����# ��#/
��
�"�) �����
�$� � ���
��� ��� ����	� ���������� '�$� 	� �"�
#��

� �
� 
����
�&
������
�*�

�& 
���	���& 2�
�"�' 
����	��� ����	
�$� �����
������$� �
�"��� !�
��
������ �
����� ��
�������� �
�"���� 
�$�
�
�"�)� 3
1��� ������� 
��$��
���
-�������' ����	�� ��	��� � �
���	��� 	�����
�' �
���� ���
���
���
�) ��������/
-
�) �
�"�	�
� � 
�'�
����1�' �����"�) ���� m = 2�

��� "��$� 
� ��-���� 
��$��
��� ��	�-� ��������-
�$� �"�
#��

� 
���	���&
2�
�"�' 
����	��� � ��	��� 4���� �5� � ���� 
�&�' (c(t), τ(t)) 6 ����	����' �
�"��
� 	���
��
�� -���� �� �
�-�

��� � {1, 2} × (−∞,∞)� 7
� "���� c(t) ∈ {1, 2} /
�	
�
�	
�' ��
"#$ %�
���� � ���
�"�# C ��
�&�	
�& �����

����' �� �	�
 �
��8

C = ‖cij‖, i ∈ {1, 2}, j ∈ {1, 2},
	�

c11 = 1− α, c12 = α,



�����������	�� 
���
����� � �
���� �
��� ��

c21 = β, c22 = 1− β.

0 < α < 1; 0 < β < 1,

� τ(t) � ������ 	
���� ��
������� ���������� �������� ��
������� �� ������	
������� c(t)� ������

τ(t) = τ
(t)
c(t), t = 1, 2, . . . ,

�� {τ (t)
i , i ∈ {1, 2}, t = 1, 2, . . .} � ��
������ ��
������� ��� ������� c(t) ����������

�������� ��
������� ��� ��
��� t = 1, 2, . . . � ������ �� ��
������

Ti(x) = P{τ (t)
i < x}, t = 1, 2, . . . ,

�� 
������ ��� ������	 t = 1, 2, . . . ! "���� c = {c1, c2} � ������ �������������
��
�����	 ������� c(t)� ��

c1 =
β

α + β
, c2 =

α

α + β
,

� {1, b} � ������ ������� ����� 
������ C� ���

b = 1− α− β.

#����
� $	����%�

T (0)(x) = c1 · T1(x) + c2 · T2(x);

T (1)(x, y) =
2∑

i=1

2∑
j=1

ci · cij · Ti(x) · Tj(y);

T (2)(x, y) =
2∑

i=1

2∑
j=1

ci · c(2)
ij · Ti(x) · Tj(y);

��

C(2) = C2 = ‖c(2)
ij ‖, i ∈ {1, 2}, j ∈ {1, 2},

��������� �
��������� ������� ������� c(t) 
� ��� �����! &�
����
��

T (1)(x) = T (1)(x, x);

T (2)(x) = T (2)(x, x).
"���� �����

{τ(1), τ(2), . . . , τ(n), τ(n + 1), τ(n + 2)}
� ������ ����������� ������	 τ(t) �� ���
���	 t ∈ {1, 2, . . . , n + 2}! "� ��������
��� ����������� ��
����
� ����	��� �����������

T̂ (1)
n (x, y) =

1
n

n∑
t=1

χ[τ(t) < x, τ(t + 1) < y];

T̂ (2)
n (x, y) =

1
n

n∑
t=1

χ[τ(t) < x, τ(t + 2) < y];

T̂ (0)
n (x) =

1
n

n∑
t=1

χ[τ(t) < x];

� ��
����
� �����������

T̂ (1)
n (x) = T̂ (1)

n (x, x); T̂ (2)
n (x) = T̂ (2)

n (x, x).

'���� ������������� �� ��� ������� ������� c(t) ∈ {1, 2} 
 ���
� �����
� 
�����
�����	(� �� 	
��� )*+ �����
� ,!*! "���� z �
����( ������-�������� 
 ����������
�
z1 �� z2! Δ �
����( ���������	 
������ 
 �����
� c1 �� c2 �� ����������

Δ = diag{c1, c2}.



�� �� �� �����

���� �����	
 ���
�
� ��� ��� ���

��

� ����	��
�� ���
�� ������


T (x) = {T1(x), T2(x)}
����	
� �������

zT ·Δ · C · z = T̂ (1)
n (x), zT ·Δ · C2 · z = T̂ (2)

n (x). ���

 ���������!"�� ���!���
�� #$%& 	��

 �������' (� ��� ������
��� ����
��� ����

x' 
 �
��� ��� ������
�) i = 1, 2' 	
� 	���� �*��
���� �
 �	����
���"�

T̂ (i)
n (x) → T (i)(x). �+�

��	! �������	� *���, ���
��
� ����-���� �����	� ���
�
��

zT ·Δ · C · z = T (1)
n (x), zT ·Δ · C2 · z = T (2)

n (x). �.�

/����	
 ���
�
� �.� � �!	��
�"' �������� 	
� ����-�����

{z1, z2} = {T1(x), T2(x)}.
0�)
��

Δ̂ = diag{√c1,
√

c2},

 ������

��

 	
����� U = ‖uij‖' i ∈ {1, 2}' j ∈ {1, 2}' ���

�
����� 

��!�
�	
��
�	�

u11 =
√

β√
α + β

, u12 =
√

α√
α + β

,

u21 = −
√

α√
α + β

, u22 =
√

β√
α + β

.

 ���

�	� ��������
� � �����	� ���
�
� �.� ��� �
	�
� �	�

�)�

ẑ = Δ̂ · z,


 ����	
y = U−1 · ẑ.

 

������ ���� ����	
�	� 

��!�
! �����	! ���
�
��

y2
1 + b · y2

2 = T (1)(x), y2
1 + b2 · y2

2 = T (2)(x).

1�� 	
����� C �
 C(2) 	��

 �
���
�� 

��!�
� ��*�
��

��

C = G1 + b ·G2, C(2) = G1 + b2 ·G2.

2�� ���	! G1 = ‖g(1)
ij ‖' i ∈ {1, 2}' j ∈ {1, 2}3 ��

g
(1)
11 = c1, g

(1)
12 = c2,

g
(1)
21 = c1, g

(1)
22 = c2,


 G2 = ‖g(2)
ij ‖' i ∈ {1, 2}' j ∈ {1, 2}' ��

g
(2)
11 = c1, g

(2)
12 = −c2,

g
(2)
21 = −c1, g

(2)
22 = c2.

�����
A = Δ̂ · C · Δ̂−1 = Ĝ1 + b · Ĝ2,

���	�
�� 	
����� Ĝ1 = ‖ĝ(1)
ij ‖' i ∈ {1, 2}' j ∈ {1, 2}3 ���

�
"���� ���
����	��

ĝ
(1)
11 = c1, ĝ

(1)
12 =

√
c1 · c2,

ĝ
(1)
21 =

√
c1 · c2, ĝ

(1)
22 = c2,


 	
����� Ĝ2 = ‖ĝ(2)
ij ‖' i ∈ {1, 2}' j ∈ {1, 2}' ��������
��

ĝ
(2)
11 = c1, ĝ

(2)
12 = −√c1 · c2,



�����������	�� 
���
����� � �
���� �
��� ��

ĝ
(2)
21 = −√c1 · c2, ĝ

(2)
22 = c2.

������� �����	
�����
�� T (x) � ���	�������� T1(x) �� T2(x)� �������� ���
�����

z1 = T1(x), z2 = T2(x)

� 	���������� ������� 	������ ���� �� ��	�������� ���� ��� 	��������

T (x)T ·A · T (x) = T (1)(x), T (x)T · A2 · T (x) = T (2)(x).

!����
����

v1(x) = T (x)T · Ĝ1 · T (x); v2(x) = T (x)T · Ĝ2 · T (x).

�������� ���	������ �����	� T (x) ����������� �� �
������ ����� ����� ���� ���
��	��������

v1(x) > v2(x).
" ��#�$� ��� �

v1(x) + b · v2(x) = T (1)(x), v1(x) + b2 · v2(x) = T (2)(x),

������
T (2)(x) − b · T (1)(x)

1− b
= g1(x) > g2(x) =

T (1)(x) − T (2)(x)
b · (1 − b)

. �%�

&������ '
� ������ 	������ ��� � ������ '
� � ����	�������� ��	������� �%� ((
������� 	��������� ���	) ��� ���� ��� ���������
• * ������ � �����

β < B1 =
T (1)(x)− T (2)(x)

T (1)(x) · (1 + b)− T (2)(x)
�+�

������� 	������ ��� ��� ������ ���� �������, 	�������� z(1) = {z(1)
1 , z

(1)
2 }� ���

z
(1)
1 =

√
T (2)(x)− b · T (1)(x)

α + β
+

√
c2

c1
·
√

T (1)(x)− T (2)(x)
b · (α + β)

z
(1)
2 =

√
T (2)(x)− b · T (1)(x)

α + β
−

√
c1

c2
·
√

T (1)(x)− T (2)(x)
b · (α + β)

• * ������ � �����

β > B2 =
b · (T (2)(x)− b · T (1)(x))
T (1)(x) · (1 + b)− T (2)(x)

�-�

��	�� 	��������� ������� 	������ ��� � �� ������ ���� �������, z(2) = {z(2)
1 , z

(2)
2 }� ���

z
(2)
1 =

√
T (2)(x)− b · T (1)(x)

α + β
−

√
c2

c1
·
√

T (1)(x)− T (2)(x)
b · (α + β)

z
(2)
2 =

√
T (2)(x)− b · T (1)(x)

α + β
+

√
c1

c2
·
√

T (1)(x)− T (2)(x)
b · (α + β)

• !	� ���������  ����
B1 < β < B2 �.�

������ /� 	�������� � � �� ��������
������� ���������, �����	 yn(x) = {yn1(x), yn2(x)}� ���	������ ���$� �����
�


'���� 	����������

yn1(x) =

√
T̂

(2)
n (x) − b · T̂ (1)

n (x)
α + β

,

yn2(x) =

√
T̂

(1)
n (x) − T̂

(2)
n (x)

b · (α + β)
.



�� �� �� �����

��������	
 ��
��
�������� ���� ���� ���� � ����� ��
��
��� ��� ����
��
� 

{T̂ (1)
n (x), T̂ (2)

n (x)}
!���� ������
 �������� ����������"

������� ���� ���������	
 �	 ��
	���� �������� ��	���

#" α + β �= 1�
$" α �= β�

�	�� ��� ���� �
	�	 x ∈ (−∞,∞)
 ��
	�	
 �	�

T1(x) > 0, T2(x) > 0,

� ��	��������
 �
� ������ �	 	������ ��� ��	��
 �	 n → ∞
 
		������� ������


	�	�	 ��
�	�� yn(x) = {yn1(x), yn2(x)} ��������� �� ����� !������ � ��� ��	��

����������� �������� ��������	"�����

• #
�	 β < B1
 �	 ��
�	��

ŷ(1)
n = {yn1(x) +

√
α

β
· yn2(x); yn1(x) −

√
β

α
· yn2(x)}

���� ���	�	$�	� 	���
	� ��
�	�� T (x) = {T1(x), T2(x)}�
• #
�	 β > B2
 �	 ��
�	��

ŷ(2)
n = {yn1(x)−

√
α

β
· yn2(x); yn1(x) +

√
β

α
· yn2(x)}

���� ���	�	$�	� 	���
	� ��
�	�� T (x) = {T1(x), T2(x)}�
• % �����
�
 
	�� B1 < β < B2
 �	 ���	�	$�	� 	���
	� ��
�	��

T (x) = {T1(x), T2(x)}
���� 	��� � ��
�	��� ŷ

(1)
n 
 !� ŷ

(2)
n �

&����$���� $"#� %� �
�
��& � �����!
 $� �� �
�'�	��� �
���(
�� ��'
 ����!����
�(
��� ������� T (x) �
���	�&���� ���������	��� ����� ���
'��� ����)���
� �
���!

�
����� �*� !����� ���
 ����� �(
����" � �����
 +#,- ��������� .� � ��/�'���!�
�
����� 0��
������1 !��������1 !���'
2

(ζ(k), η(k)), k = 0, 1, 2, . . .

� !���
��� ����
� E = {1, 2, . . . , m}� ��
 �
�����
 �!��
 

pi1 · T (0)
i1

+ · · ·+ pir · T (0)
ir
�= 0 �#,�

�'� ���
'��
� 1 ≤ r ≤ m� i1, i2, . . . , ir ∈ E = {1, 2, . . . , m}� �� 

p = {p1, p2, . . . , pm} = UT · Δ̂ · c,
T (0)(x) = {T (0)

1 (x), T (0)
2 (x), . . . T (0)

2 (x)} = UT · Δ̂ · T (x),
�
�
'
�
 ����� ����)���
� �
���!
 �
����� �*� ����!���� �(
��� ������� T (x) !�3

��� �� ����!�/�� ����
��
�
 T̂
(0)
n (x)" 4 �
������ ��
5 ���/'���&���� � �����!
 $"$�

�!��� �#,� �� �
����&����" 6
5��� 

p = {p1, p2} = UT · Δ̂ · c = {1, 0},
T (0)(x) =

{
T

(0)
1 (x), T (0)

2 (x)
}

= UT · Δ̂ · T (x)

= {c1 · T1(x) + c2 · T2(x),
√

c1 · c2 · (T2(x)− T1(x))} .

7 ���� 

p2 · T (0)
2 (x) = 0.



�����������	�� 
���
����� � �
���� �
��� ��

���� ������	
	��� �
 �	
	��	��� T̂
(0)
n (x) �� ������ �
����
���� ��
��� ����������

��������� ��
��� ���	��
 T (x) ����� ���� ��������� ��
 �������� 	�����
 �� ���
��
 ����
	� �������	���� � ���� 
� �	
	��	��!

T̂ (s,r)
n (x) =

1
n

n∑
t=1

χ[τ(t) < x, τ(t + s) < x, τ(t + s + r) < x];

1 ≤ s ≤ 2, 1 ≤ r ≤ 2.

"����
� �� � ���� # ��
�
 $%&'�

���������� ���	 (�)� �� �������	*�� ����
 % 	������ ��� 
 �
� �
��� �
��
�	*
α + β = 1� 	� ���
�����+ ������ τ(t)� t = 1, 2, . . . ���� ����
����
�	� ���
������
���
������ ���� �� 
 �
 �
��	
�
 ���	��
 ����	������* {τ(1), . . . , τ(n + 2)} ���,��
��������	� ���
�����,� ������� (c(t), τ(t))� t = 1, 2, . . . ����
 ������
	� ��
���
��-� ��� ���
-
!

c1 · T1(x) + c2 · T2(x)

.����
+ ������
�� {T1(x), T2(x)}�
���������� ��/	 (�)� �� �������	*�� ����
 � 	������ ���� 	��	� α = β� 	� ������
�
	� ��
��� ��� ���
����� .����
+ ������
�� {T1(x), T2(x)} �
 �
��	
�
 ��-� ���	��

����	������* {τ(1), . . . , τ(n+2)} ���,�� ��������	� ���
�����,� ������� (c(t), τ(t))�
t = 1, 2, . . . ����
� 
�� ��	
����	� �� �
����
��
�	* �� �	
�
� �
���,
 0
����
 c(t)
����������

"������	
��� 	������ ��� �� ��
���
��� ���
���,� ��
���
��*��,� �������� )�
�����	*�� ����	�� �
�����*��� �������� ��,����
�
�� 1 �
��� ������	���� )� �

	��� �
���� 
���
�������� ����	��
 (Ω,�, P ) ����
 ��� ��
 �
��+�	�
 ���
������
���� ��!

Ξ = {ξk, k = 1, 2, . . . }; Z = {ζk, k = 1, 2, . . .},

 	
��� ��
 ���
������ �������!

• 2��
�����+ �
� ���
������ ���� �� Ξ 	
 Z ����	�+ �
�����*��+ ������
��,����
�
� x(t)� t ≥ 0� � �
�
��	�
�� (μ, ν)� 	��	� ������� )� �
� ��
 �	
��!
x(t) ∈ E = {1, 2}� 
  
� �������
��� � ��� � ���
��������� �
����
��� �
�
�
��	��� μ � �	
�
 %� 	
 � �
�
��	��� ν � �	
�
 ��

• 2��
�����+ �
� ���
������ ���� �� Ξ 	
 Z� ���
�����+ �
� ���
�����,�
������� x(t)� t ≥ 0 ��
���
��*��+ ������ Π(t)� t ≥ 0 � �
�
��	��� λ�

2��
+ S(0) = 0� 
 S(k)� k = 1, 2, . . . � ���
 
� ���
����� ���� ���� ��
 �
� ������
�
3��
�,
 � �
�
��	�
�� (k, λ)�

��������� �	�	 ���
���� ��
���
��*��� ��������� )� �����	*�� ����	�� �
��
����*��� �������� ��,����
�
�� ������ �
���
	� ������
���+ ���
�����+ �������
(ξ(t), ζ(t))� t ≥ 0� ����
 ���+ �
�	�����  ����!

ξ(t) =
Π(t)∑
k=1

ξk · χ[x(S(k)) = 1]; ζ(t) =
Π(t)∑
k=1

ζk · χ[x(S(k)) = 2].

"���
 ��� ���
�����+ ������!

θ(k) = ξk · χ[x(S(k)) = 1] + ζk · χ[x(S(k)) = 2], k = 1, 2, . . . . 4%%5


��� �	�	 
���
����� ������ � 
��������� ����� θ(k)� k = 1, 2, . . . ������ ������

��� ����� ������ ���������� ����
����� �������� ���������� �� ������� ����

���� 

θ(k) = θ
(k)
η(k), k = 1, 2, . . . , 4%�5



�� �� �� �����

�� η(k)� k = 1, 2, . . . ���������	
 ���
�� �������� �� ��� ��� ����	�

η(k) ∈ E = {1, 2},
� ����	
� ��������	� �����������
 
��� �� ��	� ���� P = ‖pij‖� i, j = 1, 2� �	����
������� �������	� �	����

p11 =
λ + ν

λ + μ + ν
, p12 =

μ

λ + μ + ν

p21 =
ν

λ + μ + ν
, p22 =

λ + μ

λ + μ + ν
.

[{θ(k)
i , k = 0, 1, 2, . . .}, i = 1, 2]  ������!�� ��� ���
��� ������� η(k)� ����������

������!�	� ��! ��"�� ��� ����	� ������� ������� k �	������	� ���	�	�� ���	��

�� �������� θ
(k)
1 �� ����!	�� ��� ������� k � ��������� � ���������� ξk� � ��������

θ
(k)
2 �� ����!	�� ��� ������� k � ��������� � ���������� ζk#
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θ(k) = x(S(k)), k = 1, 2, . . .

�
��	
���
���
 
����

���� �	����� �������� Π(t)� �� �������
��� ��	����	� �	� 
���� 	�!���	���" x(t)� ��	
��#��$

pij = P{η(k + 1) = j/η(k) = i} = P{x(S(1)) = j/η(0) = i}

= λ

∫ ∞

0

e−λ·t P{x(t) = j/x(0) = i} dt = λp̃ij(λ), i, j = 1, 2.

�	
 �%��� p̃ij(s) �&����# ��	��
�	���' (������ ��	������" )�����" ��	��
�%��!�
�	����� x(t)� ��*��$

p̃ij(s) =
∫ ∞

0

e−λ·tpij(t)dt,

��

pij(t) = P{x(t) = j/x(0) = i}.
��	������ )�����" pij(t)� i, j = 1, 2� ��	��
�%��!� �	����� x(t) &���
��%�'��% ����� 
��� �
����� �
)�	������
� 	�
�'�% +����!�	�
�$

dp11(t)
dt

= −μ · p11(t) + ν · p12(t);

dp22(t)
dt

= −μ · p22(t) + ν · p21(t).
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p11 − 1 = −μ

λ
· p11 +

ν

λ
· p12;

p22 − 1 = −μ

λ
· p22 +

ν

λ
· p21.
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�' P = ‖pij‖� i, j = 1, 2� # �������
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�����
{θ(1), θ(2), . . . , θ(n + 2)}

��	
�� 
��

������� �����	����� �����
� θ(k)� k = 1, 2, . . . �����

���� �� ���	���
���������

K(x) = P{ξk < x}, L(x) = P{ζi < x},
���������� 
����

� Ξ 
� Z ���������  ��� �� ���

��� ���� !�" �����
� ���	��� K(x)

� L(x) ����� #����
������� ��	���

���$ 
������ !�!� �����$$%� ��� ����� 

�&

�

�	� T̂

(i)
n (x)� i = 1, 2� ���������� 

�
�

�	���'

q̂(i)
n (x) =

1
n

n∑
t=1

χ[θ(t) < x, θ(t + i) < x], i = 1, 2,


� ��	����$%�'

α =
μ

λ + μ + ν
; β =

ν

λ + μ + ν
.
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�	� �����

�
����%�)� �� μ = ν� 
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�� ������������ � ���

�� ���
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���
�	�� �����
�� � ������
��� μ� +
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0 <
μ + ν

λ + μ + ν
< 1,


� ����� α + β �= 1 
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�
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